N

\ BIEE: - STAKERE BN EROEEY. (S8 | BRAC-LOGEM LC-L)
B O HEERBRTL - MEBE L. 547 | CBC.-LANAYT
392 39  M10X30 GEkA /YD RS I t3.2 134 (Kf T T@Z ¥ N=FOv 27Fy VEERT 2, @& | VGT-C—-4085F—-FA-SPP
75 66 GEEAA—T0) 57 67| [(Run-KZX=b (@@E2 | KKVH01181
N B /2 1 \ | BENEL HEN =
e [ (HEREH4.6) al O\ 18 . 500 950 2000 2000
I Q ] | 175 11@150=1650 175 L.
MIf 1 ) - — N §
et | i
L 7\ ° N
WRATS il m8x25 TEH2 $139.8%3.5
” I (BEXAA2—T70) /
—~ IIfjd \
R M 3.2
{8 .
<£.| @I_/\\Z t1.5 ” / y (250 5| 8
= I (y 1 OV KEIHME) | ) -
i ;; : ! »
N I | \
o)) [ ( \ )
I [ T H 1T A T T T Hg T T IZR T T 1T 1T T T T T HT 1
” s ‘\\ AR \\ \\\ AP £
; :: \
% P \a $34.0x2.3 \m% FB—6x 19 | 5|
= H i H-130x 125x 6x6x 6\ FBE2 $89.1x2.8 BAEEME D995  [200.5
g8 500
=3 [t 103 (250)
o BEREE 6 ” - i B00__ MDY (1 g6 134 BB R 3.2
——— ¥4 OV BEIE o
- By-7 PV
GREEAA2—70) \| )| 16550 0 o ole o TEERIY-T 3.2 T
@ i GEZAE.D 1995 L4 | 1995
< {1 N - RTINS T @ -3 BB
x| BB LA LE ] M| 45| BEEA4E |3 lly M12x 45
o \” N M12x 40 (HEXAHA2-T0)
= i (#EFA68) | |Q |3oc
N gt Il S o }
o| BEZET {6 o8 Qééiﬂ = I~ FBEZAY-T t3.5
M12x 45 = i —
M8x 30 4 % o 1960 (A7 - t2R) | | 1960 (A% - +2R)
@EEAA2—70 NN\ 34 M22x 310 |
| 2
_ g Vj'f_n &I&\ A ol %@;6;8) BE2AT 16 426X 36
3l 13 [ /= | — = o
D
- y A Ah-+ 11.6 ] T =
Wi / c | S _ @ | @ A - gl
(HHAA 1Y) o & | S| ¢ ¥ ol 1S sifgens
_ Pl AT “| {o
An- 1+ t1.6 :2‘ o B D et 3 & o 5
7YH-KL b 85 95| 140 2! |mum ;l_/—100>l</200xt9 30]|| 90 ||[30 ?
M20x 240 68 220 212 55[ 90 55 108
(REXNL.6) 200.5 !500 299.5 BIMTEENE 200 A% B 50




